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Instructions for candidates TIME ALLOTTED: 2 Hrs
1. Total No. of Questions-100. Each Question is of three marks.

2. One mark will be deducted for every wrong answer.

3. Do not write or mark on the Question Paper.

4. Question Paper to be returmned before leaving the Exam Hall.

Read the following passage carefully and answer the guestions given below:

We shall go on to the end, we shall fight in France, we shall fight on the seas and
oceans, we shall fight with the growing confidence and strength in the air, we shall defend our
island whatever the cost may be, we shall fight on the beaches, we shall fight on the landing
grounds, we shall fight in the fields and in the streets, we shall fight in the hills. We shall never
surrender, and even if this island or a large part of it were subjugated and starving, then our
empire beyond the seas would carry on the struggle, until the New World steps forth to the
rescue and the liberation of the Oid.

Q1 On the basis of the passage which of the following statements may be sad to be
correct?

{a) The speaker is encouraging his men for the conquest of France

(b) The speaker is an aggressive and maniacal war-monger

(c) The speaker is not satisfied with the conquest of the island

(d) The speaker is a patriot urging the defence of his motherland

Q2. The speaker in the passage wants to go on fighting because -
{a) He is a raving lunatic
(b) Heisin a state of utter despair
{c) He expects help from other quarners
(d) He is the leader of a suicide squad

Q3. Which of the following pair of the phrases helps best to bring out the intention of the
speaker?

{a) "Go onto the end’,” shall never surrender’

(b) "Growing confidence”, "subjugated and starving"

(c) “Subjugated and starving”, "fighting on the landing ground”

(d) “Fighting in the streets”, “subjugated and starving’

Q4. The passage consists of repetitive patterns in syntax and vocabulary, The effect of this
style is that it -

{a) Reveals the speakel’s defects in giving a speech

(b} Produces the impression of bad poetry

{c) Conveys the speaker's helpless situation

{d) Reinforces the speaker's basic intention

Q5. The tone of the speaker is:-
(@) Pleading and urging
(b) Inspiring and encouraging
(c) Dhiscouraging and gloomy
(d) Menacing and bullying

in_each of the following, choose the word most similar in mganing to the word given in
capitals.

Q6. “MEDDLE
{a) Disregard (b) Overlook (¢} Interfere (d) Free
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(8} Conferred - {b‘.r lmma—*d _t ST (o) Praising o (d}. Privata {
fay Widan fh) F'u'or (ol Sl (Y Tighe :
In_each of the following guestons, find oug Jhich nai has & BIRGY \
W91, The police has {aVamesters the thied h, H'ah(:- Brode into my House (o)fas night J
12, Thie man who () i {r.ouqht to ba(b) & sentiafnan tu“md out (o) o be a rougue. (el :
i
Q13. | told ralm an his fal,u {&lithat he coitld ot ‘m':h {b} tﬂ s:las:. h -tnngarrt {e)Miedical :
examination of e er\.rlf*ea .:elertlor. Emru rd‘ B A A i
Q4. Meham is ons of thnsa tmj,fh (2)f who Has ﬂxpr sed {E:ujf uf.riilir'!grregs oI joining o) the
educatianal tour, {d). B ;
Q13 | may spend {_a}.f this summer vacations hihwith are of moy fidgndsic) i the Hzck waters :
of Keraia. () . _
Pick up the mast sffeciive WOre e the ulvan yre :0qis b HE g the nlenks o make the
ﬁentenue meaningiully complste
M6 According IC the weather . itis 1.|0|m, to bz cloudy today.
ga] Announcermsent B Indication {c) Pradiction fd* Faorecast
Q17 The villagsrs — ___\rEriurds; of their ieacer by buriing the pelica van.
fa} Protester {h) Avengod (<) Moursg qd; Sonzoler :
Q18 While on = routine flight; the airceah was hii by @ mizsile and __ it flames ¢
{a) Fired i) Buis (o} Caupht {d} Enguifad :
Q1% Hari gor the company cartora __ price e His was #e senjor st etnploves in the
COMpany.
a2l Rediiced o) Dizcounied fC: Flwag () Moming
G2 The arruly tetiavior of the soldisrs e heEi comimiancer.
(&) Ciashed (0 Aggnavad {0) inuensag () Iinpeachad P
21, Whi accorded the tibg Manatrin 1o ME Gandhi?
() Zardar Paiel (e {C) Jaroiini Maidy (5 Rahingranat Tagors
Q22 The Mon Co-uperation Movemen| starad irvwhich yaar” :
{2} 1900 -'m [Pk o) 1540 (O EES g
Q22 Dwring the Wiadle Agss edvcation was conitned only io:-
(a) Kshativas {r;r';l Braiwaing Vi Feasants i) Shudras ;
Q24 Wha 2mong the followrng wae rezponzinie far the sDIERC of Baddhism n S Lanka?
{a) Ashoks {hy Bahaviz ey Harsavantt: (5] Shandis Suits hiawva
W25, The slemants which have low value of Icnization poiertizi sre at; FRLITe ;
& Diidising egents {2 Raducing z2osrs,
Gl Oxidising ang Sed, SATID SRenTE depsnding wpon e reanosin fd) none of thays
i
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tal Italy b Brazi it Araeniing {cr Enland

—
i

L

1_:_T‘!

0,37, The officiel somg WakaWaka'of FIF2 Woile Sup hald i the vear 2010 at South Afnca
was sing by wiich popular shnger? :

{zy Bladonna B {h‘- Drestiny Child (o Shakira : id Rehanna
(22 bathe y2ar 2011, the ace nadminton playver Sang Nehwal was honoured with which
spofis awarsy
tg) Dironachanys weard (b Rajiv Gandhi Khs' Ratne award
(o) Arjdn gwans (i Mang of thege
20 Term “Wisible FHorizoan' in astronomy is dgfied as-
fa) The circle of contacl of the earth and e cone of wisuda' ravs nassing ihrough the
raridiar of ha place. :
(i) The circle of contact of ihe E:Iﬂ.'l“ anel 1"1&: sane n::f m,-.ua'l rays not pasamg thlough tre
masidian of the placs.
{) The circle of mntact of the narth and t"va c:t}ne of wsual ruys passmg thmugn tha
© noint of abservatiodl T U
{dy The sircle of contact of the :,ar'th anr:i t*-|~= cong of ﬁf|¢LJH| f‘J‘_-,-’S ‘ot ::asamr; tnrm oh the
omint of observation.
Q50 NREGA stands for-

{z) Wationa! Revenuss Engagement Guarantee Association
(bt Mational Revanus Employment Guarantes Act.

(i Nitional Rural Efmployment Guarantes ,ﬂ.asauailon

{ch Mational Rural Fmph:n_,rment f‘uarantee "act

R

5%, River Daﬂdj ongmatea frorm:-
‘fa) Northarh %!Dpes af Ehp Kailash rangs (b Spring at Vernarg
ic F{a!cas Lake . r:i} r*r"ﬁ.riqantar paleat

42 Limoriitic ot 18 the ore of wnich metal 7 .o L
(=1 iron {b; AUraRiLm o) Zine (i Coball
:33.. Black revoiuiion rulates to which of 1haf0|'|:rwmq?
(a} Seif-depandénce in fosngra;m prclr:iu cion (k) Sell- dependencs in milk proguction
(c) Sefi-depundence ifi petrolm mf cride ol (dy None of these '

024 Karraris the unmamﬂti hamber alrcraﬁ of—.
cofe) g ceydrans . .. (o) Tuskey (d) Pakistan

Qa5 e is thé authot 6f bOGkK Keepmg {he Eaith: Memairs. of a Parliamentarian’?
E '(a} Dawd Crmand {h} Raqa ‘%nehadeh ic] Raghav Ehnl fd) Somnath Chatteqec

Gr3g. : s 3 thyroic hﬂrmme whmh ‘controls the batance B calcm"n ir the bady
(a: Calcitonin - (b} Thy’mxme (ch Catmodulin: {d}aﬂ ofihese

Q137 . The celb wall in plants is mterrupLed by nNarrow porss, {::ar'ymg ‘hne s’randa of cytoplasm
which interink the coritsnts ofthe cells: Thess strands are i called
(A s 1a§rnahole {B) Mmrﬁwlil (c} asmcdesmafa [d,a Plasmalemma

3 Vﬁhm_is_the crickear bestowed Hath an hcnoraw Aomiitssion in the Tefritorial Army?
(a) Sachir Tendulkar (b) Kapil Dheir- (&) Mirendra Semwag (o) Harbhajar Singh

070 The transpor: phencmencn ceeurs enfy in___ staie of a gaz and i
(my Non-eguikbrium, irreversible ' L’b‘l rareguiiibrivm, reversible
{1 equilibrive, ireversiblé ) equilitrir, reversible
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Q40. Which of the following COmpouitids form nitrites with nitrous acid’
{a) Primary amines Lo (b} Secondary armines
(¢} Tertiary amines” “ooo.v T - 4dl All of these

41, The number whose s'u:'u'a.r'e' is 'e'qii'él to the difference of the squares of 37and 23 js-
() 4509 bl 2WOE. . oy a70p (d) 28

Q42. ' The average age of B:!"he}.h' is icréased by 4 years when ong of them whose age is 30
years is replaced by a new fmiar: What is the age of new man?

.o @) 55 Years - ) B2 Years' 7 Y(c) 42 Years id) 89 Years
Q43 A vesssi full of water, weighs 24'Kg Whisn the vessel is 1/4 full, it weighs 9 kg. Find the
weight of empty vessel. S

(2) 4 Kg BI5Kg (o sk () 3 kg
(4. Ifa-b =4 and ab = 45 fing the value of a'p*
{a) 604 By 370 (c) 253 idy 189 X
W45, I altarb)=15/21, what is {a+b)ita-b) equal 107 -
{.':‘IJ 1319 .. (b} 234’1_1:;_;_ R [ 'I4.-’5_. co e fdy 210G
TIBxSTO) o o b i P
(@) 2. LB T e Ty

Q47. A man's average Manth'.'eﬁpéri_dit'q#'e':fﬁn:’ghé' first faur months of the year was T 231 75,
For the next five months, the average monthfy expendiure was 2 22.73 wmare than what it
was during the first four months. If the persen spent T 805 in all during the remaining thras
months of the year, find what Percentage of his arinual mcorme of % 3500 did he save in the
year? i - :

fay 10% by 15% oo (el 20%, {dy 23%
Q48 The average agde of students of a class is 15 & years. The average age of bays in the
class is 16.4 years and that of the girls iz 15 4 years. The ratio of the numker of boys to the
nurber of girls in the class is- S

fa) 1.2 CoE By 2.3 oy 34 _ - gy 35,
Q48 18 buckets of watsr Bl & tank when the Capacity of each bucke! 15 8 i < How rnany
buckets will be needed to fill the same tank, if the capaciy of the hucket 1 12 Iitreg”

(ay 12 (b 13.5 S

cy 24 (d) can not be deterrmned die to snsuffroiant data
WAL Srinivasan invesis two equal amounts in wwo hanks giving B% and 12u, rate of interest
respectively. At the end of year the interest earned is Rs 1500, Find the sum invested in each.

{a) T 8500 {b) ¥ 79000 {c) T7500 gy < 17.000
Q51. The simple interest aceryad an & sum of money at the end of four years s 15" of its
principal. What is the rate of interest per annum?

(a) 4% (o 5% fo) 6% (d! Inadequate data
Q52 A sum of T 2600 & lent out inte twg rarts, one at 9% and ancther ot T4 i the tota!
annual income is ¥ 208, find the maney ient at 7%

{a) < 1400 (B 2 900 {c) T1800 ey & 1200
Q53 Inan eiection betwesan wo candigaies, TO% of the voters cast then votes. out of which
2% of the votes were derlared tvalid. A candidate 9ol 7203 votes which was 309 of the totaf
walid votes. Find the total number of voters enrollad in that elaZlion.

(a} 18050 by 17500 (e 17000 o TIGE

Continued. 5
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54, N the pitce of kerosene be raised by #1%, find by how much percent a house holder
must reduce his consumption of kerosene so as not 1o increase his axpenditere?
{ay 1% {b} 8.4% fc} 11.09% {di 8.25%

285, 75 pupils from a schonl appeared for an examination and 80% of thern passed. Ancther
gohoot entered 10 mare pupiis than the first schoal and five pupils less than the first school
passed, The pass % of in the second school was -

{a) 75% L ih) BaY% {c) 72% () 64.7%
(56, DBivide T 80 in the proportion of 3:6:7.
(a) T 10, T 35, ¥ 40 {by T15,¥ 30,7 35
(v} £16,¥35.330 . (d) 210,740,335 .
L57.  Calculate the amount on ¥ 1875 for 2 years at 4% per annuni; compoundsd yearly, <
o {8) XB7B o (0] RTTE T (o) TATTR e {d) T 2028,
Q58. *If varies as'y and x =8 when'y = 15 ther the valus of ¥ whari y=10 is:-
oL@ BT e SR T (o) 8IS L (d) 18/

059, In 2 mixture of 60 litres. the ratio of milk and water is 2:1. What amount of water must be
added o make the ratio of milk and watar as 1:2 7

{a} 42 Litres {2} 56 Litres (c) 80 Litres {d} 77 Litres
(380. A sum of T 10,000 is tert partly at % anad the remaming at 10% p.a. If the vearly interest
on the average is 8.2 %, the money lent at 10% is:-

(a} ¥ 8000 {b) T 8500 (c) 5000 () T 2000
Directign:- Chgowe the word which is Jeas! like the other words in the giroup
Q81. (a) Garc . by Khasi {t) kKangra {d} Jayantia
Q62 {a) Virgo 7 {b) Pisces {c) Cancer {d) Owion
Q63. (a) Shoulder - {b) Faot {c) Finger fe) Eibow
64, (a) Cange (b} Dimgy {c) Yatch (d) Igloo
Q65 fa) thn - (ki Club (¢ Moted ) Hostel

Directions:- The foliowing ‘quéstions consist of two words that have a certain
refationship to each other, followed by four aliernaiives. Seiect ¢he bast alternative that
has the sams reiafionship as the original pair of words :

QB6.  Liguor : Drink

(a) Bread : Butter 7 - (b} Tea : Beverage

(c} Bniff . Inhale ' {d} Water - Sip
QY. Ewvaporation : Cloud

(&) Mountain ;| Snow _ {b) Book : Pages

fe) Pressure : Atmosphere. - (d} Tension : Braakdown
68, Barral : Vial

(@) Book : Pamphlet (bl Book : Reader

{¢) Brochure .| Complier {d) Length @ Height
By, Cream : Cosmstics

{a) Tiger . Forest {b) Mountain ;. Valiey

(¢] Magazine - Editor () Teak : Wood
Q). Carmivere : Herbivore

{a) Flesh :; Plant b Horse © Lion

fe) Camal : Giraffe ) {4 Animal ;. Bird
Direction :  Three words in Lold letters are given in_sach guestion, which have

gsomething in common ameng themselves. Out of the four Qiven akliernatives, choose the
most appropriate descripticon about these three words.,

Q7. Hamlet : Macheth @ Fausius
(a) They were Princes. (b} They are plavs by Shakespear,
{e) They are characters fram various dramas, {d) They weare romantic haroas,
Continued. . .5
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G¥2 Wesitviue ¢ Etna @ Kiliisanisro
&) These are sitas of voloanoes. (b Thesz are island couniias,
ol fhese ave hille of Etaiyr S {4} Thesa g in poiar region
W3, Wnot © Waht : Fathom . .
{2 ¥he tgrms are used by sailors. {b} The terns are used Tor instaling alesiiciiy
{u; The temms Rre \,mnmn::tsc] with rope  (d) They stz unite of msasurement.
T, Eﬁmm Dighm : Rni’ietmmr
' iz} Yhey are famous for ol fizlds . (b They are famous mlgious olaoes.
_ Gl Thaey af“ fourist T}!ECC& of Sauth |”'Id!|:1 () Thav are famous foi handlooms
575 '!r'-:mgr;t_? Reok : Bighop: h
{2} These afe missienaries: = (b) These are churchmsan,
{c) Thesge are chessmen, - {d) These are ranks of inflitary,
W7G. Abhi Bhattacharya : Utpal Dutt @ Satyajit Fanr
(@} They are character actors. (b '['I'1eyr are directors of Bangali moviss,
{c} They are famous nﬂets anc witers.  {d] These personalitizs belong to Bengal
G770 Voodoo @ Sorcery - Necromanoy
{a} Tnay are anciant ans found in sculptires. S
_ { i They are terms tcgnnectecl with blauk magav C
{o). Thﬂ\; aré aricient soripls.. - _ R
f ) They: are mezny of CDI‘HF"IUH]C:.HGH or pre h[ﬁt{iriu age
L7 F"'.Sl.il'kF'lﬂ »Sokaro o ThivGaplr e e e e :
{a) They ate stsel plants ' S (v} Théy ha'ﬁ,r'e coal mines.
fu} Tﬁe,,r have atomic powst plants. . {dY Thay are on the saa Shesl,
Wi} ﬁpmach Fenugiesk @ Celzry .
(o) he.,e ar nactus planis, (bt These are wild planits. .
(e ‘ These are wsld fiewers. {0} These are leaty vegaisbles
Q80. - Yeats ﬁhahb Habip. i :
ra} Thay wafs sacial rﬂfﬂrmers L) f hrej.r were fdeLFS naets
(c} They were saints. S fd) The;.e iwere yngam*tructnr :
CHreciion: There are twe séis of ?zgdrh namely the Prohiein fi‘gures conta mg vz

l""l-'t

flgurm 1, % 3, 4, 5 and answer ﬁgurer {a), [B); (c], (d). You have o selens one 'gijre o

) ti"e Anwmr flgmea wh:t:h wﬁl t:ﬂntmuﬂ the same series as gwen m the Pruhle ,f':

Q1.

Q83

QBa”
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fLures.

{5 2y {3

h’h;’i\aﬁ.:!?\ r_'_j:-\l s N F o k|
L ﬂil:.-_-.* i) {a} by o geh ()
[E] T o e
LETE R D [ B D
e s @ bt - id)
R b b -EE"
i . ‘_‘_ :__.._
2} {2} :a b b ey iy
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Girestion . Vhe a.‘aiicswmfl situgtions involve o oluster o three or more oemeirines

faures, Raving one of more dols placod at any point insids (ke chluster. Thiz cluster

wAAEST ls
fotiowesd by @ oai of four alternafive figures ench o rmpased of 4 civsier of We samz wype

ot foures, Now, fr.}“ aack dotwe have to cnsenee the ;'Pgmn in LI'L'th]'.—. |‘c Iﬁ e*rﬂica&ﬂ La, i
wiich & the ozonisirical “gur\. this repion is ¢ommaon. - i~ Co

Froee amongst e ligires marked {a), (&), {C) and {&, EE!PC““ ‘*_?mﬂ 'flgi.i'ﬂ w!': T f;: fi'fa hﬂ*
5;".1& i,u.hﬂatmu; uf ;:-Iagnm'*m ﬂft"in diﬂ A% m flg 5}() C

Brmciion . in this portion. a foure i green as an orniging! figurs 20 iIndlewsd by foor
answer ftgurw, The :!E'I!;a’ﬁﬂ‘ figure s ambedded or hidden i one ,:_,{ e ansers: *Tum 3
i o & ool Seipct the glemnative that cerriss the corren: hgura which cloardy shows e

-'::I‘.*’-‘_i's-:sm.*m- poritor of the originai figuve
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=
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Direction:: - In each of the following questions; aipart of the figure is missing. Find out
from the given options {a}, {b}, (<} or (d), the right figure to fit in the missing figure (X}.

Q8. ﬂ 7 . B -

Q97.

NN /“l .f. —|1§ 

(a) T @) (e

QO8. = 7
<&

R} (k) (c) ()

(88

00
0 4 C
Gk
o
DII\-
0]
F 0
0
D'\.
0
0
{

0100
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